R
K

ol

b= AF Y E

1o
20

F

W28

RN

(061) 270 - 8295

=
=)

| (061) 270 - 8353 / &

kel

/

tE2 114981 X

e form

534 - 810 /

(e}
s

Ot

-+

ol
ol

H
<
[[{e]
<0

I
o

H

==
o

<]
%

A dH K (4,716)

Al

t

Ol =Z2&A

t TSt &

¢}

FrgzdeXd ezl #E 2

ok

AD
Kl
<+

.

ol
ol

W
<+
20

I
o

i

Rr
70

BHUHES

1.

(e} <

ol 212

o o

e

< - -

o o

N N

o | R | K

F | ol | ol

<F | <F | <F

Rl | RD | &

7

[e0)

N o]

< —

< n)

o9 | ®o

T

A

&l O-

= |

W<

SFL T

® | e | d0

e | % | B

ol | ol | <

T | RO

w | <F

FloT | R
<+
o

<k 4

<0 =<

0 | ~ | K0

K| RO | K

80 | &M | D

— | or | oo

o< | <k

AR =

A
halll

A0
Kil
<+

£15|5
Fls |2l |l9]le]e
N o|l o|lo|lo|lo|ld|d]|d
0J IS IS IS IS el z|z|z2
[a [a [a
S| =|=
=} ™
I I | | | N N |
fall =
o =
O 5
it 2
oir - U o
= = o
00 0 D €
N i ul S
< ay| w <k b=
= o 3] in
A0 ol S| W | =
~|l=|3 mw mu K0 m%
S a0 A=A
Clei%lg|m|w|n|m
Wila|E|~|0|T|w|R
M| < | X [0k |[H |k | |5
oF NN E Y E Y E YRR
o | (o)) (o)) (o)) (o)) (o)) (o)) (o))
0J IS IS IS IS IS IS IS
0o
AU
=)
Rr
=)
m M _O/O — I I I I MO
hall ~
<0
a RO [ or | M
(@]
o)
o 0 100
w| 2|
= N
= =14 o]
J; J18|2| s
ol oz | =12 P -
Wlwlw|<«|a|S|2|2] o
S|®m < ||l |=[=]|8
o L A )~ ) T I VO Rl A= Ik =
<110 | DF] | D | <F|DD

AU

KO
ol
)|

4

o
20

Oir



e NG AEAYE B

W RN

2 534 - 810 / &Y =Rz SEHH IE=Z 11499 X / &3 (061) 270 - 8353 / ME (061) 270 - 8295
Aol AIEEHE 2 A dH =ZudE X 3 =HZAAHEHEY i & 4 gENd A AR
TMNYHES . ST RN
A X RO EAYAR) B Y STANLEAREE
Mo 2 2ZAMN RN (4,717)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HR™AE DR
1. dMUE
ZH |2 S5 2 |+==E2 U3 4,717
BASH [FHI SIS (Aot T AIYA-11442 ==Xt [ 2011.10.06
M2 I XIEA2 MW= olg2 ot SHE| 424 WESS=DN; 2011.10.04
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2Bt Nl ? (Total Colonies) 100 Ol Gt 0 CFU/m¢ | C|2 2 2 il & (Dichloromethane) 0.02 0|5t | EHE | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | Of €8Il A (Ethylbenzene) 0.30lct | EZZ& | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-CI22=2 0 €@ (1.1-D.C.E) [ 0.03 0lct| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCl, ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 28.0 mg/L
= 2 (Hg) 0.001 0I5t 23 mg/L UM EAH S 10 Ol ot 5.69 mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
A DLIOFEE A (NH; - N) 05005t | 22= | mg/L | & 2l (Cu) 1015t | 0.008 | mg/L
ZIASE A (NO; - N) 10 0/t 1.4 mg/L | % & (Color) 5Z 0t | 225 [
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1005l | 228 | mg/L | 2201255 (pH) 58 ~85| 7.1 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot 0.004 mg/L
EE2|S 2 E (THMs) 0105t | 22= | mg/L | 22012 250 013} 22 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 120 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t | 0.008 mg/L
12-ClE20-3-222020 0.003 015 0.001 [ mg/L | & & (Turbidity) 0.50l5t | 0.02 | NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 13 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2/2220IEK(1.1.1-TCE) | 0.1 0I5} | 0.001 | mg/L | =4 0~40| 0.80 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0|5t 2&E | mg/L
EcI2Z2 20 €8 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
22 20t0IEdI0IE (CHR) 0.03 0I5t | 23E mg/L S22 222 0E (BDCM) 0.03 0I5t| 23E mg/L
C1E 22010t ELIE 2 (DBAN) 0.1 0I5t | 0.0014 | mg/L | CIE2 222 20/E+ (DBCM) 0105t | 22& | mg/L
122 20tHELI E2 (DCAN) 0.09 013 | 0.0011 | mg/L | 1,4-CIOIS A 0.05015t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g =
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2 534 - 810 / &Y =Rz SEHH IE=Z 11499 X / &3 (061) 270 - 8353 / ME (061) 270 - 8295
Aol AIEEHE 2 A dH =ZudE X 3 =HZAAHEHEY i & 4 gENd A AR
ZABS . £E- RN
= & X 2 (Mot AIE A E) ) B . SEZAIMNGHE T AIS EHE
Mo S AEAN A (4,720)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HR™AE DR
1 AHUE
ZH |2 o= =28 SR 4,720
SASH1FD SIZIHS | Mot EAtY A-11442 &+2X | 2011.10.06
a2 | XEAZ MeZd |og2 sXH 52l 403 M= X+ | 2011.10.04
2. WA 2
A= Jl &= 2 | &< A= Jl &= Z2 | &9
2Bt Nl ? (Total Colonies) 100 Ol Gt 0 CFU/m¢ | C|2 2 2 il & (Dichloromethane) 0.02 0|5t | EHE | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | Of €8Il A (Ethylbenzene) 0.30lct | EZZ& | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-CI22=2 0 €@ (1.1-D.C.E) [ 0.03 0lct| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCl, ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 16.0 mg/L
%= 2 (Hg) 0.001 0|5l EAE | mg/L | AL EAHIS 10 05t 5.85 mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
A DLIOFEE A (NH; - N) 05005t | 22= | mg/L | & 2l (Cu) 1015t | 0.009 | mg/L
A E A (NO; - N) 10 0/t 1.6 mg/L | % & (Color) 5% 05t 2 =
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1005l | 228 | mg/L | 2201255 (pH) 58 ~85| 7.0 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 E (THMs) 0105t | 22= | mg/L | 22012 250 013} 20 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 36 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t | 0.025 mg/L
12-CIEZ2R-3-22T2D 20 0.003 0I5t 23 & mg/L & & (Turbidity) 0.5 0|5t 0.04 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 12 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2I22 20l EH(1.1.1-TCE) 0.1 0|5t =dE mg/L MFAEL 0~4.0 0.70 mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0|5t 2&E | mg/L
EcI2Z2 20 €8 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
22 20t0IEdI0IE (CHR) 0.03 0I5t | 23E mg/L S22 222 0E (BDCM) 0.03 0I5t| 23E mg/L
C1E 22010t ELIE 2 (DBAN) 0.1 0I5t | 0.0113 | mg/L | CIE2 222 20/t (DBCM) 0105t | 22& | mg/L
122 20tHELI E2 (DCAN) 0.09 03| 0.0010 | mg/L | 1,4-CIOI= 4 0.05015t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
]l i
2
= .

STAIAGH: A B

ol




K

@
KJ
a0
)

b= AF Y E

1o
20

F

W 24

N IR

(061) 270 - 8295

by
=)

| (061) 270 - 8353 / &

kel

/

B2 114981 X

oo

e form

534 - 810 /

(e}
s

—_

i
3+

of
1l

x
il

-+

ol
ol

H
<
[[{e]
<0

I
o

H

KO
<
ol

H
<F
Hm
<F
H
30

==
o

<l
%

MN 8X AN (4,721)

Al

t TSt &

¢}

=2d Mexel #&EU 2

N
(=

AN
_I__I_E

ok

AD
Kl
<+

.

ol
ol

W
<+
20

I
o

i

Rr
70

BHUHES

1.

[{e] <
Ll2ele
o o
HEIE
< 1 1
o o
I3Y I3Y
o | = | =
il oll oll
E[ |
KD KD =3
s
[V
N~
[N ~
< .
< n
9| Ro
1 pd
A=
Al e
= | K

<
W 40
S
o | 1o | 30
H|l x| B
| o | <4
T | RO
w | <
o1 | B
4
O <
W~ &
ol | RO =
30 Rl bl
= [ O | 20
= |«
i A0 =3

e
fall

A0
Kil
<+

O - - - - -
o+ / S S < <
N ol ol ol o o
ol | E|E|E| €| €
o K n K K
SR w S| @ | A
Al Sl M| of M| M
ol = |16
Wl l<|2|c|B|®
=l lle|82]a
1 ) — ™
o o o
or
60
= ~| ~1 ~
c
w0 | AR
mm TN |m |8
:._ ~—
RIf® 2o || S
mlz|S[S|[S|E]|E
Q ~ ~ ~
K K -
= oflm|m]| || ] oo
fall | © ]
=
. o Rl
o) o) o
K| S| M| sls| ®
_ o | 0| ® I M ol &
N m c| &l @«
B _ RO[oor |
gle| |=|7
ol s |3 S| . 00
el A &2
10 O m m knnw & m.%
— | s |2 |HEl 5 ||~
“lo|E|Hel 5| 5
E|lm gl 32| &r
Ml |m =04 |s ]|
T |wlwglw ||| . .
o | S|k || A & I+ o=
ol | ko [IHL| T | o0 | 80

AU

KO
o
)|

4

o)
<0

Oir



K

@
KJ
a0
)

b= AF Y E

1o
20

F

W

W RN

(061) 270 - 8295

by
=)

| (061) 270 - 8353 / &

kel

/

tE2 114981 X

o

534 - 810 /

(e}
s

oll

60

—

i
3+

of
Il

z
1]

-+

ol
ol

A
3
110
<0
<
B
o

H

KO
<
ol

H
<F
ic
<F
H
30

==
o

<]
%

AN EdBAM (4,722)

Al

o st &

¢}

=2d Mexel #&EU 2

PN
(=

A A
_I__I_E

ok

AD
Kl
<+

-

ol
ol

W
<+
20

I
o

i

Rr
70

AU

1.

(e} <
~l 21
N
< | d| 3
o o
N N
o | < | <
| ol | ol
<] <F | <F
|’ =
n
o]
N n
< —
A
— 0i0
I
1
3| <
= | <
E._ i0j0
<L <F
| 7o | d0
of | <0 | &
ol | o | <
T | Ko
m | <k
o | &
<+
o
<+ n
<0 3
0 | ~ | K0
R|R | R
80 | &r | B0
_ | o]
Rl =< | <
AR R

A
halll

A0
Kil
<+

TSl ]3]3]3]8]8]%
Wl Z2|2|Z| €| | | €| | €
o o o
= = =
= o
= M o | | | | | | |
ha{(l N
KH
_ I I I I I I I I I
m
i
or = nA“U W
- 5 x U
00 A_v o __e_ﬁ o
= I 3 8) 5
tof 5 @ 5
N T (1 A_.m a e ]
wm | |[HElS | @ 5 w_
|l | mele | 2| 2 [mo
gl I o T I I = A v B
W | [T | | M| = | ok W=
oF L 2|2l || ===
o I ()] ()] ()] ()] ()] ()] ()] ()]
! E| | E| E| €| €| | E
=
M % H ™ I I | I | 0l
Gl AU
_ll.u
Rl
K X0
I I I I I I I I I —
] m
<0
~ %0
3 o | A
e 50
o W % il
Wl ||l a| o =
“loldlele| TS| ~ -
AWl |Ad el w2 7]z R
sler | w4 T el L
Gl wr |l |rm | U low|w|&|m ||
<F ol 00 o+ K0 ™~ <F m <

AU

K0
o
)|

4

o)
<0

Oir



e NG AEAYE B
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2 534 - 810 / &Y =Rz SEHH IE=Z 11499 X / &3 (061) 270 - 8353 / ME (061) 270 - 8295
Aol AIEEHE 2 A dH =E0&E  ZF & i =HZAAHEHEY i & 4 g§Yt A a =R
TMNYHES . ST RN
= & X 2 (Mot AIE A E) ) B . SEZAIMNGHE T AIS EHE
Mo S AEAN SEAM (4,723)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HXNE DRELC
1 AHUE
ZH |2 o= =28 SR 4,723
BASH [FHI SIS (Aot T AIYA-11442 ==Xt [ 2011.10.06
M2 I XIEA2 MW= lolg2 a3 g2l 10-9 WESS=DN; 2011.10.04
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFu/m¢ | C| 2 Z 2 il EH(Dichloromethane) 0.02 0IGt| & | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | Of €8Il A (Ethylbenzene) 0.30lct | EZZ& | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-CI22=2 0 €@ (1.1-D.C.E) [ 0.03 0lct| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCl, ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 52.0 mg/L
= 2 (Hg) 0.001 0I5t 23 mg/L UM EAH S 10 Ol ot 8.22 mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
A DLIOFEE A (NH; - N) 05005t | 22= | mg/L | & 2l (Cu) 1015t | 0.009 | mg/L
A E A (NO; - N) 10 0/t 1.1 mg/L | % & (Color) 5Z 0t | 225 [
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1.0005t | 0.01 | mg/L | 220/25% (pH) 58 ~85| 7.0 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 E (THMs) 0105t | 22= | mg/L | 22012 250 013} 33 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 180 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t | 0.008 mg/L
12-ClE20-3-222020 0.003 015 0.002 [ mg/L | & & (Turbidity) 0.50l5t | 0.02 | NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 16 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2I22 20l EH(1.1.1-TCE) 0.1 0|5t =dE mg/L H2HA 0~4.0 0.70 mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0|5t 2&E | mg/L
EcI2Z2 20 €8 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
S2ZE00I= 401 (CHR) 0.03 0I5t | 23E mg/L S22 222 0E (BDCM) 0.03 0I5t| 23E mg/L
CIEZ20I0tMELIEE (DBAN) 0.1 013t [ 0.0165 | mg/L CIEZ222Z 20 E (DBCM) 0.1 0|5t EZ=E mg/L
122 20tHELI E2 (DCAN) 0.09 03| 0.0013 | mg/L | 1,4-CIOI= 4 0.05015t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
]l i
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